

# ST. JOSEPH'S COLLEGE (AUTONOMOUS) DEVAGIRI, CALICUT-08 (College with Potential for Excellence and Reaccredited by NAAC with A++ Grade)

No.28-SJC/AUS/CE/PG-I SEM/2021-22

## **NOTIFICATION**

It is notified for the information of all concerned that the 1<sup>st</sup> Semester PG Regular/Improvement/Supplementary Examinations November 2021 (2018, 2019, 2020 & 2021 Admissions) of MA/M.Sc./M.Com/MSW Programmes will be conducted by the College as per the schedule given below.

All candidates should submit the application online through the login provision available in the college website (www.devagiricollege.org) using their own login ID and password. Payment of exam fee is to be made online only.

Regular Exam applicants who are eligible for fee concession are directed to pay the online Registration charge only (Rs.35/-).

Commencement of registration of application	18-01-2022
Last date for the receipt of applications without fine	28-01-2022
Last date for the receipt of applications with fine Rs. 170/-	02-02-2022
Last date for the receipt of application with special late fee Rs. 1275/-	05-02-2022
Date of issue of hall ticket	14-02-2022
Date of commencement of Examinations	17-02-2022

## Details of fees to be remitted: (As per University order No.349/2019/PB)

a) Application Fee

b) Examination Fee (Theory)

Regular

Improvement and Supplementary

Viva Voce

c) Examination Fee (Each Practical)

d) Mark List Fee

e) Valuation Camp Fee

f) Online Registration Charge

: Rs.35/-

: Rs.85/- per paper

Dated: 18-01-2022

: Rs.170/- per paper

: Rs. 115/- per exam

: Rs. 170/-

: Rs.40/-

: Rs. 170/-

: Rs. 35/-

Copy to

1. Principal

2. Examination Section

3. Office Superintendant

4. Fee Section

5. PG Departments

6. Information center

7. Notice Board

8. Office files



CONTROLLER OF EXAMINATIONS

Dr. GEORGE MATHEW
Controller of Examinations
St. Joseph's College (Autonomous)
Devagiri, Kozhikode-673008, Kerala

### **ECONOMICS**

**Theory Paper** : 4×85= ₹340

Mark list fee : ₹40 :₹170 C V Camp fee **Online Registration** :₹35

**Application Fee** :₹35 ₹620

## **ENGLISH**

**Theory Paper** : 4×85= ₹340

Mark list fee : ₹40 C V Camp fee : ₹170 **Online Registration** :₹35 **Application Fee** : ₹35

₹620

## **MATHEMATICS**

: 5×85= ₹425 **Theory Paper** 

: 1× 115= ₹115 **VIVA** 

: ₹40 Mark list fee : ₹170 C V Camp fee :₹35 **Online Registration Application Fee** :₹35

## > PHYSICS

: 4×85= ₹340 **Theory Paper** 

: ₹40 Mark list fee : ₹170 C V Camp fee :₹35 **Online Registration** 

:₹35 **Application Fee** 

₹620

₹820

## **CHEMISTRY**

: 4×85= ₹340 **Theory Paper** 

: ₹40 Mark list fee : ₹170 C V Camp fee :₹35 **Online Registration** :₹35 **Application Fee** 

₹620

#### - BOTANY

Theory Paper	:3×85=₹255
Mark list fee	:₹40
C V Camp fee	:₹170 ₹535
Online Registration	:₹35
Application Fee	:₹35

## > ZOOLOGY

Theory Paper	:3×85=₹255 —	
Mark list fee	:₹40	
C V Camp fee	:₹170	₹535
Online Registration	:₹35	
Application Fee	:₹35	
		And the state of t

## > M.Com

Theory Paper	: 5×85=₹425	
Mark list fee	:₹40	
C V Camp fee	:₹170	₹705
Online Registration	:₹35	$\geq$
Application Fee	:₹35	

## ~ MALAYALAM

Theory Paper	: 4×85= ₹340	
Mark list fee	:₹40	
C V Camp fee	:₹170	₹620
Online Registration	:₹35	
Application Fee	:₹35	

## ➤ M. Sc. PSYCHOLOGY

Theory Paper	: 4×85= ₹340	
Practical	:1×170=₹170	
Mark list fee	: ₹40	
C V Camp fee	: ₹170	<b>&gt;</b> ₹790
Online Registration	:₹35	
Application Fee	:₹35	

## M. Sc. STATISTICS

₹705
> •

## MASTER OF SOCIAL WORK

**Theory Paper** : 5×85= ₹425 **Practical** : 1×170=₹170

Mark list fee : ₹40 C V Camp fee : ₹170 **Online Registration** :₹35 **Application Fee** : ₹35

₹875

## **➣ M. Sc.COMPUTER SCIENCE**

**Theory Paper** : 5×85= ₹425 **Practical** : 1×170=₹170

Mark list fee : ₹40 C V Camp fee : ₹170 **Online Registration** :₹35 **Application Fee** :₹35

₹875



Dr. GEORGE MATHEW

Dr. atroller of Examinations

On the atroller of Examinations Controller of Examinations St. Joseph's College (Autonomous)
Devagiri, Koznikode-673008, Kerala